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QUESTION 1

A fully functional WLAN is deployed in a campus network using the following script. 

Which part of the script can a network administrator re-use to assign a different default role to users when they connect
to the same SSID in a second building? 

A. server group and ssid profile 

B. server group and VAP profile 

C. server group, aaa profile, and ssid profile 

D. server group and VAP 

Correct Answer: A 

 

QUESTION 2

A network administrator has updated the ArubaOS code of a standalone Mobility Controller (MC) that is used for User-
Based Tunneling (UBT) to a newer early release. Ever since the MC seems to reject PAPI sessions from the switch with
the 10.1.10.10 IP address. Also the controller\\'s prompt is now followed by a star mark: "(MC_VA) [mynode] *#" 

When opening a support ticket, an Aruba TAC engineer asks the administrator to gather the crash logs and if possible
replicate UBT connection attempts from the switch while running packet captures of PAPI traffic on the controller and
obtain the PCAP files. The administrator has a PC with Wireshark and TFTP server using the 10.0.20.20 IP address. 

What commands must the administrator issue to accomplish these requests? (Choose two.) 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: BE 

 

 

QUESTION 3

Refer to the exhibits. 
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A network administrator has fully deployed a WPA3 based WLAN with 802.1X authentication. Later he defined corp-
employee as the default user-role for the 802.1X authentication method in the aaa profile. When testing the setup he
realizes the client gets the "guest" role. 

What is the reason "corp-employee" user role was not assigned? 

A. The administrator forgot to map a dot1x profile to the corp-employee aaa profile. 

B. The administrator forgot to enable PEFNG feature set on the Mobility Master. 

C. MC 1 has not received the configuration from the mobility master yet. 

D. The Mobility Master lacks MM-VA licenses; therefore, it shares partial configuration only. 
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Correct Answer: C 

 

QUESTION 4

Users run Skype for Business on wireless clients with no WMM support over an Aruba Mobility Master (MM) - Mobility
Controller (MC) based network. When traffic arrives at the wired network, it does not include either L2 or L3 markings. 

Which configuration steps should the network administrator take to classify and mark voice and video traffic with UCC
heuristics mode? 

A. Enable WMM in a VAP profile, and explicitly permit voice and video UDP ports in a firewall policy. 

B. Confirm OpenFlow is enabled in the user role and VAP profile. Then enable WMM in a SSID profile, and explicitly
permit voice and video UDP ports in a firewall policy. 

C. Confirm the MC is the Openflow controller of the MMs and Openflow is enabled in VAP and firewall roles. Enable
Skype4Business ALG in UCC profiles. 

D. Confirm MM is the Openflow controller of MCs and Openflow is enabled in VAP and firewall roles. Enable
Skype4Business ALG in UCC profiles. 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibits. 
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A network administrator deploys User Based Tunneling (UBT) in a corporate network to unify the security policies
enforcement. When users authenticate with 802.1X, ClearPass shows Accept results, and sends the Aruba-User-Role
attribute as expected. However, the AOS-CX based switch does not seem to build the tunnel to the Mobility Controller
(MC) for this user. 

Why does the switch fail to run UBT for the user? 

A. The switch has not fully associated to the MC. 

B. ClearPass is sending the wrong Vendor ID. 

C. The switch is not configured with the gateway-role. 

D. ClearPass is sending the wrong VSA type. 

E. The switch is not configured with the port-access role. 

Correct Answer: B 
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